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Judge’s Detail per Skater — Free Skating / /—E AABRF I

Rank ®@FH MR TBEIR Seg.rrnoetrz:tI EIeTmt:-;t:{ Pro;::rar: DeductTig:lasl
Score Score Component
Score (factored)
1 R KX R & KOSE#T##;E7") Y AFSC 1 61.59 23.03 38.56 0.00
# Executed Info = Base GOE J1 J2 J3 Ja J5 Ref Scores of
Elements L. Value Panel
1 2A 3.30 0.11 1 1 0 0 0 341
2 38K 14 1.30 -0.56 -4 -3 -5 -4 -5 0.74
3 2Lz+2T+2Lo< < 4.76 -0.42 -2 -2 -2 -2 -2 434
4 2o 1.70 0.00 0 0 1 0 0 1.70
5 FCSp2 2.30 0.00 0 0 1 -2 0 2.30
6 CSSp3 2.60 0.35 1 2 1 1 2 2.95
7 StSql 1.80 0.00 0 0 0 0 0 1.80
8 2F+2T 341 X 0.00 0 0 0 0 0 3.41
9 2AK <« 121 X -033 -3 -3 -3 -3 -3 0.88
10 CCoSplV 1.50 0.00 0 0 0 0 0 1.50
23.88 23.03
Program Components Factor
Composition 333 375 4.00 350 375 400 3.83
Presentation 3.33 375 375 375 350 375 3.75
Skating Skills 3.33 400 425 400 375 400 4.00
Judges Total Program Components Score (factored) 3856
Deductions: 0.00
<=Under-rotated jump <<=Downgraded jump X=Credit highlight distribution, base value multiplied by 1.1
Rank B#FH_ MR BEIR Seg.rrnoetrz:tI EIeTmt:-;t:{ Pro;::rar: DeductTig:lasl
Score Score Component
Score (factored)
2 b 1§ 8% X #Z)IIFSC 2 57.13 21.27 36.36 -0.50
# Executed Info = Base GOE J1 J2 J3 Ja J5 Ref Scores of
Elements L. Value Panel
1 2AK < 2.64 -0.97 -4 -3 -4 -3 -5 1.67
2 2o 1.70 0.00 0 0 0 0 0 1.70
3 2Lz+1Eu+2S 3.90 0.00 0 0 0 -1 0 3.90
4 CSSp2 2.30 0.23 1 1 0 1 1 253
5 CCoSp3Vv 225 -0.23 -1 -1 -1 -1 0 2.02
6 2lo 1.70 0.00 0 0 0 0 0 1.70
7 2F! ! 198 X -0.18 -1 -1 -1 -2 -1 1.80
8 2Lz F 231 X -105 -5 -5 -5 -5 -5 1.26
9 FCSp3 2.80 -0.09 0 0 -1 -1 0 2.1
10  StSql 1.80 0.18 0 1 1 1 1 1.98
23.38 21.27
Program Components Factor
Composition 333 275 375 375 375 350 3.67
Presentation 3.33 3.00 375 400 400 400 3.92
Skating Skills 3.33 275 325 350 325 350 3.33
Judges Total Program Components Score (factored) 36.36
Deductions: B5{El: -0.50 (1) -0.50

<=Under-rotated jump X=Credit highlight distribution, base value multiplied by 1.1

1=Not clear edge
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